ALGEBRAIC EXPRESSIONS

CONTENT DOMAIN REFERENCES:
A1, A4, A5

KS2 SATS

PRACTICE QUESTIONS BY TOPIC

k stands for a number.

[2010]

' Complete the number sentences below.

One has been done for you.

5 more than k is
2 less than k is
3 more than twice k is

6 more than half of Lk is
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2 A
[2 marks]
n Simplify these expressions.
|Extra]
sk+7+3k=..... . 3k+F
k+1+k+4=_. .. . 2 l<+S
[2 marks]
B When x = 8, what is the value of 5x?
[Extra]  Tick (v) the correct box below. - -
e
\ 5 13 40 58 None of these
[1 mark]
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n Match each statement to the correct expression.

[Extra] The first one is done for you.

N\

L Add2toa

[ Subtract 2 from a

[ Multiply a by 2

[ Divide a by 2

[ Multiply a by itself

[2 marks]

B When x = 8, what is the value of x?

[Extra] Tick (v') the correct box below.

\

16

None of these

[1 mark]



n Here is an expression.

[Extra]

[ 20+ 3 + 2a J

Which expression below shows it written as simply as possible?

Put a ring round the correct one.

7a 7+d 2a+5

4(a + 3)

Here is a different expression.

[ 3b+4+5b-1 J

Write this expression as simply as possible.

N gb+3

[2 marks]

Complete the statements below.
[Extra]

x When x is 8 ;  Ax is 32

When x is I?_ , 4x is 48

When x is 8 é) is 48

- [3 marks]



n Look at this algebra grid.

[Extra]

12a

Complete the algebra grids below, simplifying each expression.

O O,
NEINETS
®

[2 marks]

n Look at the three expressions below.
[Extra]
{ 8+k ] L 3k } [ k? ]

When k ﬁ@wha’c is the value of each expression?

grk-_ 18 %-_30 . lOO

\U | [3 marks]

|



m A ruler costs k pence.
[Extra] A‘E_en costs m pence.
Match each statement with the correct expression for the amount in pence.

The first one is done for you.

Statement J { Expression

|
)

The total cost ( 1
of 5 rulers om

5-5m

The total cost
of 5 rulers|and|5 pens]

500 - 5m
[ 5k +m
How much more\:S pe_ﬁs__ficost
than\5 rulers | L .
5(k + m) | S k+Sm

|
4
The change from £5,

in pence, when you buy[S“p‘iéﬁ—s’i

5k -5m

[2 marks]

m When x = 8, what is the value of 3x -x?
[Extra]  Tick (v) the correct box below. 2§ — 4 z 2.9

'ﬁf';
N 0 3 16 30 None of these

[1 mark]



m Write the missing numbers.

[Extra]
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ol [2 marks]

a When y =1, which expression below has the largest value?

[Extra] Put a ring round it.

N =

3y

[1 mark]

m Look at the equation.

[Extra]

BTN

Work out the value of 140n

—

[lo 1Mes BlgGer' T

N qgo

[1 mark]



m Look at the equation.

[Extra] 3-12
[ ST ]
o

¥
Use it to work out the value of 7 — 3

[5ix LESS]  \ L

Now look at this equation.

| nx3=7 ]

Use it to work out the value of 7 — 6

[2 marks]
n Here is some information about three people.
[Extra] "
®m Jois 2 years older than Harry. —{7# \L S1) LWAR ~ 7 -
m KateistwiceasoldasJo. - |5 A@ T_'Q, X 3C L’:l

Write an expression for each person’s age using »

The first one is given.

Harry’s age n

Jo'’s age N+ l

Kate'sage 9 x ( N 4 2)

[2 marks]



Match each expression on the left with the equivalent expression on the right.

[Extra]  The first one is done for you.

L 3d +d

3
2d
3d
4d

2d?

3d?
dS

{ 3dxd

b [2 marks]




m When n = 30, find the value of 21 + 1
[Extra]

3 B ] I
o B \ = n(
LA 220 + \ -

[1 mark]

m Use a=7 and b = 28 to work out the value of these expressions

[Extra]  The first one is done for you.

ab s Z.X 2—8

1]
.i 1|\..‘r
ik

[3 marks]

m When n = 30, find the value of 2(n + 1)
[Extra]

L W | = — =
e -

[1 mark]



u It is Tina’s birthday. We do not know how old Tina is.

[Extra] Call Tina's age, in years, n

The expressions below compare Tina’s age to some other people’s ages.

Use words to compare their ages. The first one is done for you.

(' Tina's age  n

L,
>
3
o
7

L Ann’s age n+3

(. ilinasiage " in ] \ Barry s | YeAR VOUNGEJK

t BATTVE BEE A1 | D e e A o

THAN TINA
inasege T ] N i TWLCE A5 0L AS
L Carol’'s age 2n J TINA

In one year’s time Tina's age will be n + 1

Write simplified expressions to show the ages of the other people in
Lcine year’s time. /

{ppy 1 To (—'j_(\{hi;]

Tina Ann Barry Carol
Age now n n+3 n-1 2n
X Age in one _—
years time | " R n.. | In+ |

[3 marks]



m One way to make a magic square is to substitute numbers into this

[Extra]  algebra grid.

Complete the magic square below using the values

\

a+b a-b+c a-c
a-b-c a a+b+*c
a+c a+b-c a-b

a=10

b =3

A

§ N

10

15

[2 marks]



m | add the expressions n and n + 2

[Extra] Put a ring round the expression that shows the result.

2n 4n nin+2)

[1 mark]

m The diagram shows a rectangle.

[Extra] Its dimensions are 3a by 5b
s 5b -
A J
3a
Y v

a\

Write simplified expressions for the area and the perimeter of
this rectangle.

[2 marks]



m Look at this equation.

| Extra]

4 +a=>b }

Write a pair of numbers for a and b to make the equation true.

h Ny TW
\ = J_ b= S ) . W (L€ £
JKVEK D >
L ;l:\._\ C \‘ ( ’|l '5_--; “ N
Now write a different pair of numbers for ¢ and b to make the equation true.
\ a= 2 b= é
[2 marks]
a Write the missing numbers so that 2a + 5b = 30
[Extral One is done for you.
2a+5b=30 when a=0 and b= 6
\ 2a +5b =30 when [a= 5 and b= &
_ " .\..'
|0 4202 30
\ 2a +5b=30 when 1@@ and b=__ O
Lt [2 marks]
30 +0 T SC



There are n counters in Alfie’s bag.
[Extra]

Alfie puts 3 more counters in the bag.

Write an expression for the number of counters that are
in the bag now.

\

N +3

Megan has two boxes.

There are m counters in each box.

m m

. o

—

A

2 —

She puts all her counters together in a pile,
then removes 5 of them.

Write an expression for the number of counters that are
in the pile now.

\

Am - S

[2 marks]



